Y et
\//
/]

/
A
/

0

A
Py
\
\
\
\
F\
\
\
\
\
/
/
/
/
A\/
/
/
/
/

(266.0) (74.5)
<é%%132.0>
1Lk 98.0 ‘ (230.5)
1
|
%
\ X
-2 K
7Y 2| ©
// A
I AR o
] N
(9.\3 [ CL
CL ‘
/*\QY%‘EBS.O}[ \’<
_ - i 6
= 3 b -
S5 — i~
EE LO <
- 5 30 %1 () BTEEBETETSH R,
= = = %2 TU—FAR-RABIFEE3IOmmULERRTHI &0
= < %3 HENAREERCESEIELO &,
= X4 KRBEEBTRBTSHE, (FHHRA345)
%5 KxB&ELEKEDOREDEE, R— 2D EEH
(TEA) CEERETH &
ABEXL24 .0 i AEFL24 .0 | N A S E
| | L R B MR KH|x R|g
girmm|gl £ 118-051-GB
(/A - O O e SN LR ELEAR
oo - /B e
<]<> KAaKULDA] 20255028058 fim |2 (Vv vy d—Ib k)




